30 | 35

25

20

15

10

5

A

@ ar=0+2 ® A=0x3

D ar=0+1

® A=0X%X5

@® A=0Dx%x4



15 21
367 36
10 56



off LgtA £

2
=

Ut 7 3

— |

[ NV

ol
ojn

7t

— e

AN







]

olJ
B]
0
jare]

=}

ARe] Az W A 0 = %3}

of

® HouAE

o
=

B!

O Hcaoo

A O X =z



AU

® 16 B 24 @ 40 B 48

@D 12



7. of® ARSI} QT o] B40] BAeh B0 o] TS 260] 3, A
st o] Bas AL e A2 124 Q.

11
O — @ — ® = @ = ® -



o}
FA| L.

ey 1056 o]

Yo7}
?.

8.

R



9. oA O g2 &5 oA L.

3 8 1
10 TO9=39-=0©

e g
=%



10.

guly| Aol A AR 32 km ALtk =] 2 o, 16% km= A

- 4
A L, 13- kme YI2E B, HelAE o] 2ty gu)vt

=gl 2w, 22 A= 2 kmAA] FSHA L.

a =R km



11.

ol o}ﬂ
)

% 65

5]

658
L
- X

b

[

ME g 2] 10044 Sojrhe BARE To

7§7F = @ 9tx] Fstoiat,

A



12.

27 x 14 = 378 Y= o]-85to] AAGH A F AT 2 2] B9t A
TEAQ.

@ 27x14 =378 @ 27x0.14 = 3.78
@ 0.027 x 14 = 0.378 @ 27x0.014 = 0.378

3 0.0027 x 14 = 0.00378



13.

328 x 14 = 4592 & °]-8-5F9] tha Foll M Fol 7HF 22 A
o i A

AL

O 328x14

@ 0.0328 x 14

@ 328 x0.14

3 3.28%x 14

@ 0.328x 14



o]

T
T o
X
% o
= -

~
R

%
_u._ 0
T8
o\ BK
U ™
M)
Ay
5 X
= M
B oH
off ©°
~r B
o) X
NIRCE
) W
or of
R
<t




15. ohg ARE 471 7 AL g TEAS,

D 27+4x5 @ 38-7x3+6
@ 48-23+9x%3 @ 56+ 2x8—43

B 34-6%54+2



16. The 55 ol Aejoq HE s 21 2 57t HABU

30581

D 29 A @ 49 A ® 2| A2
@ Ao 717 ® o] 7tz



m ¢t 4m Q1 FAF

1
4
229 Yol

of o7t %7} 2

2 7oA e,

..l__o




o
X O._
N
o
) T

FCY

ol
N
RO




@ 0.37x7.2

© 42x26x5

© 126x6.5x%x4

=
ue




20. Fd@ole A5rrt 717 24em § A3, wlHolE

15em & BT Al Aol 719 Ho] 142.40m
n)do] 712 A2 47 et

a = cm

= cm

o]
=



Bo



22. AttEE vrceo Wolrb120em? A ul, [ et gwre 52
HEOAQ,

.8em. a

-

LSS > =
-~ --"d
a ch: cm




23. o 270 Tk 25 A Aele] 4 0.0002 TS

©>@ oo
wrestel 4% A4 Ae7hA e 9.4 Qe

Ct-
=




24. the 1M A7 1 LeH 47 enc
FUr}. 7 1 2uel 278 T4 L.




25. 175x320 = 56000 4 o]-gstol, [ |2 TR ) vp=A 73 AL
ol AU

® 175x32=_|[ ]=056
@ [ |x32=056] ]=0175
® 1750 x| |=0.56,[ ]=32
@ [ Jx32=5600, ]=175
® 175%x|[ |=56,] |=3.2



